


eSS 1
................................................................................................................................... 1
OO OSSOSO 1

eSS 1

eSS 1
................................................................................................................................... 1
- 1 s 1

eSO PSSO 3

.................................................................................................................................................. 3

.............................................................................................................................................. 3
Al e 4

Dl L s 4
D R 5
F 2 TME ettt bttt a b a bbb 5
non dlo k<ne — PR ME s 9
Vv o o T TR e 14
S o g T IS e 17

F 2 TME ettt e bbb bR e R bR bbb et et 34

DI F R TME et a bbb 44

D g S s 61
F 2 TME ettt e bbb bR e R bR bbb et et 61
non Llo k< — PR ME e 61
Vv o o T TR e 62
S o g T IS e 63
o R TR e 63
R TR b 64

F R TME ettt e ca e e h bR R AR e e 65

« fi 2D F R TME ettt RR R a bbbt 65
A e 65
F R TME ettt ettt a bR eR R R R R bbbt 68

e 68
e 70

F R TME ettt et ea e e bR e e R bt 71

D S8 e 71
............................................................................................................................. 71



24 J L

fiso | s — d — 'H_L -8 A-”l
S —- A-”lS—L < o= == ™3 A9 ..
Z 8 _ —



-1 - Lo e -
— & s L Aes# <o L AL -
7Y Y 801
801
142
17.7
r— == 'f| J ) 4L ‘:’\/9
29 8 1 8 18
oo .
.= = # Nof *
) _ |8 2 4L QETM-”?’
Y — | & % 2= Nef e v Es | 200 &£ 441 < LNefo
G —s o < | — —1<#°8100 % — -~ A{wni A
% N °
safiki %142 < 009 - - =e™i<e 98 < o= —
cofisd ¢ o™
5 _-!h|8 -!hsc,s < _ AL @ETM_”Q






L ™ - = ™M= 24 %@=|A9 =0

J = — —
FL — q4=m] —ecr
8 o %247 < L o8 Mz, o %824.0 B 9 8212 <aof = TM-" °
(N =142)
0.0%
4.9%
2.1%
6.3%
24.0%
1.4%
“f:t:&t:&t:t:tz;&i
o 21.2%:;
7.0% ‘/
0.7% 2.1%
F2 — m=™M=35 Y% eg A° — =r- U
s 3,000 o %346 < L 58 ™z, s ¥ 25.7 85 3,000
5,000 s 1 5,000 o %147 <of =™]o
(N =136)
20
2.9%
20

7.4% S .

25.7%

3,000

5,000 5,000
14.7%

14.7%




F3 — A (B)-=™=2% %3 A9 ( 29 Y(_=rU

8 o %545 < L 58 Mz, 20 o % 313 85 20 50
%6.0 <of =™°

(N = 134)

20 50

F4.  — & . - FE= M=% %eg AS _=c0

8 o %527 < L g ™Z g/ — o %351 34 s 0 ¥ 12.2
OJ'ETM_HQ

(N =131)

12.2%

B - |FH L A | 66 #Ng VO



@ETM_” — = T™M=8 25 1450 0 ™9 =3$0
N N %583 < L o8 gz, n +— %515 =
< — 0o %280 <of =™>
0 10 20 30 40 50 60 70 80 90 100
(N =132)
51.5 19.7 58.3 25.0 0.8 28.0 22.7 3.0 4.5
0.0 22.6 16. 6.5 0.0
2.9 26. 0.0; 2.9
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0.0 25.0 50.0 0.0 0.0
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0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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50. 27.4 0.0 0.0 72. 33. 0.0 56 0.0 0.0
23.5 17.6 11.8 64. 29.4 0.0 5.9 0.0 11.8
64. 17.6 20.6 2.9 32. 5.9 14.7 0.0 00
SO.C‘ 30.0 20.0 0.0 50.0 20.0 0.0 10.0 0.0 10.0
100. 0.0 33.3 0.0 66.7 0.0 0.0 0.0 0.0 0.0
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0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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34, 116 163 116 5s,d 4.7 163 0.0 93




L

=™ > @¥%Ne




Lla A L2y %yows ™o =c0

8 0o %305 < L o8 gz, - -0 ™y % 28.1 8g A
o %109 <of =™{>*

< X
a a o a
a a o =]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
128
31
0 (33 . 3l aaz ol er b er {33 133
3
1
29
9
7
1
9
2
0
6
< X
=] a a o
a a a a
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
123
2 5 24 71 . 8] o5
v sof i - el
19
34
8
3




IN

IN

121

66

41

119

63

15

41

100%

2

g o}
a a8 =]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
G B8 Frrr
9.1;
S EEE S i
B 14'3,0'
X
o o a
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
. SIS
» 183,
1
2

10



Las %Yot ™M A==r0

n o %638 < L 58 Mgz, =V I <%0 ™ 3% 262 8
8 o %199 <of =™
10 20 30 40 50 60 70 80 90 100
(N = 141)

1.4 8.5 15. 4.3 5.7| 4. 63.8 1.4 19.9 2.1 26.2
2.9 0.1 0.0 5.9 0.0} 61.8 0.0 23.5 0.0 29.4
0.0 28.6 28. 5.7, 17.. 11.4 65.7 5.7| 25.7 0.0 20.0
0.0 0.0 0.0 0.0 0.0 0. 0.0} 0.0 0.0 ﬂ
0.1 0.0 0.0 0.0 0. 0.0} 100.! 0.0 0. 0.0 0.0
0.0 0.0 16.7 10.0 0.0 6.7 56.7 0.0/ 16.7 3.3 33..
10.0 10.0 0.0 0.0 0.0 0.0 90. 0.0/ 10.0 0.

0. 0.0 12.5 12.5 0.1 0.0 62. 0.0 12.5 0. 37.!
0.0 0.0 0.0/ 0.0 0.0 0. 0.0/ 0. 0. 50.1
0.0 0.0 22.2 0.0 0.0 0.0 11.1 11.1 33.3
0.1 0.1 33.. 0.0 0.1 0.0 33.: 0.0 0.0/
0.0 0.0 0.0/ 0.0 0.0 0.0/ 0.0/ 0.0 0.0/
0.0 14.3 28.1 0.0 0.0 0.0/ 28.6 14..

0.1 2.1 8.5 2.1 2.1 2.1 10.6 0.! 25.
0.0 0.0 10.5 5.3 0.0 0.0 26.3 5.

0.0 5.0/ 20.0 5.0 0.0 0.0f 30.1 0.0 40.1
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0.1 4.2| 12.5 4.2 2.8 1.4 16.7 1.4 22.2
2.4 4. 14.3 0.0 4. 0.0/ 28.6 2.4 28.6
0.0 25.0 12.5 12.5 12.5 0.0 37.! 12.5 37.!
16. 50.0 50. 16. 33.: 0.0 16.7 0.0 16.7
0. 25.0 50. 25.1 25.1 25.1 0. 0. 25.
0.0 100.0 0.0 0.0 0. 0.0} 0. 0.0/ 0.0/
2.9 11.8 20.6 5.9 7.4 1.5 279 1.5 22.1
0. 12.5 18.. 0.0 12.5 6.3 25.1 0. 31.3
0. 4.3 10.9 4.3 2.2 0.0/ 10.9 2.2 28.3
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10.8 13.5 13.5 13.5 16.2 32.4 8.1
0.0 10.0 20.0 0.0 30.0 30.0 10.0
0.0 42.9 0.0 28.6
0.0 0.0: 0.0 100.C
0.0 0.0 0.0 0.0

20.0 0.0: 30.0 10.0
0.0 0.0 0.0 0.0
0.0 0.0: 0.0 0.0

100.0 0.0; 0.0 0.0

33.3 33.3 0.0 33.3
0.0 0.0: 0.0 0.0
0.0 0.0 0.0 0.0
0.0; 0.0 0.0 0.0 0.0 100.C 0.0
8.3; 8.3 25.0 8.3 0.0 33.3 16.7]

33.3 0.0 0.0 0.0 33.3 33.3 0.0

12.5 37.5 12.5 25.0 0.0 37.5 0.0

16.7 0.0 16.7 33.3 16.7 33.3 0.0
0.0 20.0 0.0 0.0 60. 0.0
0.0 0.0; 0.0 0.0 100.C 0.0 0.0

12.5 0.0 25.0 12.5 0.0 37.5 12.5

16.7 25.0 8.3 25.0 25.0 25.0 0.0
0.0 0.0: 0.0 0.0 100.0 0.0; 0.0
0.0 100.C 0.0 0.0 0.0 0.0 0.0
0.0 0.0: 0.0 0.0 0.0 100.C 0.0
0.0 0.0 0.0 0.0 0.0 0.0 0.0
6.7: 20.0 0.0 6.7, 26.7 26.7 13.3

20.0 0.0; 20.0 20.0 0.0 40.0 0.0

15.4 7.7 23.1 23.1 7.7 38.5 7.7
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17, 13.0 4.0 154 14.0 35.0 4.0 7.0 33.0 214

19.2 338 154 77 61, 00 0.0 38.5 15.4
33. 14,8 111 33, 25 0.0 22.2 29.6
0.0 0.0 0.0 0.0 0. 0. 0.0 0.0 0.0 100.q
0.0 0.0 0.0 0.0 0. 0. 0.0 0.0 100.6 0.9
16.7 11.4] 0.0 0. 5. 0.0 0.0 38.9 44.4
25.0 125 0.0 0.4 0.0 0.0 125 125 250 254
14.3 0.0 0.0 0.0 28,6 42.9 28.6 0.0 42. 42.9
0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.9
0.0 0.0 0.0 33. 33.3 100.0 33.3 0.0 0.0 0.
33 33, 00 33, 00 0.0 0.0 0.0 333 04
0.9 0.9 0.0 0. 0.0 0.0 0.0 0.0 0.0 04
0.0 0.0 0.0 0.0 20.0 80.0 0.0 0. 20.0
37. 125 3.1 15.6 21.9 31. 6.3 0. 214
0.0 16.7 00 8.3 8. 83 0.0 58.3 16.7

18,8 0.0 125 125 313 0.0 6.3 50,0 18.4
14.4 7.4 114 144 111 44.4 37 222 33.3 14.
0.0 143 0.0 2. 143 42.9 0.0 0.0 28.6 28.
0.9 0.9 0.0 0.4 0.0 6.7 0.0 0.0 0.0 33.3
229 104 2.1 144 16.7 29.2 6.3 42 375 229
12.1 15.2 9.1 18.2 12.1 36.4 3.0 12.1 36.4 15.2
0.0 14.3 0.0 0.0 14.3 57.1 0.0 14.3 28.6 28.6
0.0 0.0 0.0 40. 20,0 40,0 0.0 0.0 0.0 204
66. 33, 0.0 0.0 00 0.0 0.0 0.0 33, 334
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4
14.0 10.0 6.0 16.4 140 40. 2.0 6.0 34.0 204
154 77 0.0 7.7 7.H 0.0 154 30.8 231
21.9 15.6 34| 18.4 18. 34, 9.4 6.3 37.5 18.9
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26.9 154 26.9
7.7 192 231
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0.0 0.0 0.0
18.8 18.8 0.0
0.0 16.7 0.0
! 00 20.0 200
100.6 0.0 0.0 0.0 0.0 0.0 100.
0.0 33.3 66.7 0.0 333 33.3 0.0
333 0.0 33.3 0.0 333 33.3 0.0
0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.0 40.0 0.0 0.0 20.0 40
25.0 250 107 143 250
23 23 38. 15.4 38
33. 26.7 200 333 133
346 385 38.5 192 15.4 115 26.9
71. 28.6 714 57. 143 0.0 0.0
0.0 00 100.0 0.0 50.0 50.0 0.0,
202 208 250 250 16.7 208 16.7
40.0 36.7 36.7 333 16.7 233 233
57. 57.1 28.6 00 14.3 28,
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00 0. 0.
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0.1 0. 0.
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15.4 7.7
5. 16.7 22.2 5.6, 11.1
38.7 0. 22.6 12.9 22.6 3.2 3.2 32.; 3.2 0.
50.0 0.1 50.1 37.! 50.0 0. 0. 25.0 0. 0.
25.0 50.0 0.0 0.0 25.0 75.0 0.0] 50.1 25.0 50.0 0.0
30.8 38.! 0.0| 26.9 17.3 15.4 5.8 3.8 13.5 13.5 7.7
41, 0.0| 17.6 23.5 26.5 5.9 11.8 23.5 5.9 2.9
0.0 50.0 0. 37.! 25.0 37.5 0. 0.0 12.5 12.5 0.
0.0 40. 0. 0. 0.0; 80.0 0. 40. 60. 20. 0.
33.3 100.0 0.0| 100.! 66. 0.0 0.0 0.0 0.0 0.0 0.0
100.0 0.0 0.0 100. 0.0 0.0| 0.0 0.0, 0.0 0.0
37.0 0.0| 22.2 20.4 27.8 5.6/ 9.3 24.1 9.3 3.7
[oX 30.8 23.1 15.4 0.1 7.7 15.4 0. 7.7
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39.4 19.3 13.8 24.8 23.9 32.1 45.9 10.1 2.8

38.5 154 19.2 30.8 19.2 26.9 50.0 71 0.0

455 27.3 9.1 27.3 36.4 333 485 3.0 3.0

0.0 0.0 50.0 1004 0.0 0.0 50.0 0.0 0.0

0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0

36.8 105 5.3 26.3 5.3

50.0 333 16.7 0.0 0.0

57.1 429 57.1 0.0 0.0

0.0 0.0 0.0 100.6 0.0

| Y 0.0 0.0 33.3 0.0

33.3 0.0 0.0 0.0 0.0

0.0 0.0 0.0 0.0 0.0

40.0 20.0 0.0 0.0 20.9

48.4 22,6 19.4 9.7 9.7

40.0 20.0 6.7 . . 133 0.0

33.3 16.7 111 278 33.3 22.2 50.0 5.6 0.0

34.4 125 9.4 18.8 34.4 375 46.9 15.6 0.0

44.4 22.2 22.2 22.2 22.2 55.6 44.4 0.0 0.0

33.3 66.7 33.3 66.7 33.3 33, 0.0 0.0

44.2 135 135 25.0 19.2 26.9 50.0 115 19

33.3 22.2 13.9 222 27.8 33.3 472 13.9 0.0

375 25.0 12.5 25.0 375 62.5 375 0.0 0.0

33.3 33.3 16.7 33.3 33.3 50, 0.0 0.0

100.4 66.7 0.0 0.0 333 33.3 66.7 0.0 0.0

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

20.7 16.7 14.8 25.9 24.1 226 46.3 9.3 0.0

33.3 26.7 6.7 20.0 26.7 26.7 53.3 133 0.0
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